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Question No. 1

If A is any set then A N @ is equal to

-

i ;







Factor: (3u 4 Sy 18(3u + 5) + 81

® (3u + ) (3u - 14)

R ETE -1}‘?‘
(3u + 14 3u — 4)

{3u iy









Question MNo. 12

actor the following

'I:!-ﬂI WA v)
i(x? — 204+ Yy)
1((x? —z)(4 —y)

U-‘“‘kq - MAT + i)

;ml}rrmmiul - A4IX”







Question No 4

kel the EQUIton that Mlustratec the distributive property
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| Question No. 18
e ;
,'f The equation x-1=0 is a
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© none of these answers

© quadratic equation

© cubic equation

& linear equation
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Question No. 18
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Question No. 4
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Question No. 3

Let U={1,23,4,5,6,7}, A={1,3,5,7}. and B={3.4,6}. Find (AN B)
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Question No. 18

; The equation x-1=0 is a

I-"' © quadratic equation

| © cubic equation

© none of these answers
© linear equation
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Question Ng. 17

S0IVe (7x+2) - 4 = 8 (x-9)
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1 question No. 3

!
. Which line has a negative slope?
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Question MNo. 23

s the quadratic fommula to solve this eqguation
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Use the Venn diagram to determine A _ B































Quesmon No 17
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